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C/C++ 7999 : /N PO

(1 - 4 M5NW) MNAN MONYN 4 7IN) 7253 MONY 2 5y mvdb v

19913 19IN3) ,MANBN SV WA TIMYE A9TR NN LAY N 1t nvnw Sy - (SN TIPS 20) 1 9991 NONY

26511 P2 RPN 190N - PP NYVN YV IR IN nnnn int dice(); mspanon mim
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: INAT NPPNHRN MM

class chessPlayer {
public:

int compare(chessPlayer partner);
void print();
IR
TVONNN ,compare PIpan IR 1IN IPYNNN SMISPH LHNY PNY NIRNNN
XN VPPARD OX T MPINND MIPNAN AN VHNY JPNY DY DPPIND IR NMWND
DYOPMIINN 2 -N DX 0 -1 ,290 MND VHNY PNV I¥MN DPMAINN DX -1 ;7M1 210 JpPY
APNYN NN X DMIxMD

APNYN YW DN DR NOXOTHN ,print mspon NX 03 NN NPSNNND

TPNPNON . TIVNN DT NN, 0NN NPNY DY TN N2APNN PSP 2N (MNP 10) (N

Print map9n MYSNNA VY 0NN AN DTN ,INN2 210N 1PNYN X NN

NN, TWVRN JTH DXY VANY NPNY DY TIVH NDAPNN MIPND 2IND (MNP 10) (2
YPNYNY : NYTINN NADINA ,JPNYN MM NN DTN MINPNN .10 0N NN JPNYN NN

L1230 0N YN

PNYN DIPPR AN 97 1) IINA TONNI DWTN DXOPYIIR PTINY PN NN
N2 5V DPTPIND IN 09 MYSHNI 10 N
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105Y J9INGY ,NI3NBA SV AUN TIYS MOBH NN BILAY N Tt avnw by ey - (TN TIPI 20) 4 990N NINY

ITPINNN VATN NN ,NNIAN NIND 7N (MNP 10) (N

void f(char *str, int X){
if(*str =="0"{

cout<<endl;
return;

}

if(x==0){
cout<<*str;
f(str+1,1);

}

else
f(str+1,0);

}

int main(){
f("TelAviv",1);
f("ABCDEFGHI",0);

return O;
}
PPN DOTN 70, NN TPEPNON 7NN (MNP 10) (2
.C=20, R=30 - ooy1apn »1y NX MY) DN, 7PEPION DTN NN MNP 1200
#define C 6
#define R 5
void f2(){
int 1,j;
for(i=0; i<R; ++1){
for (j=0; j<C; ++)
cout<<i*C+j<<'
cout<<endl;
}
}
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VHDL :73 750

(5 - 10 MmYNW) MNAN MYRYA 6 TIN ,7a%a MYNY 3 by mayb v

oY 1), MYEREA W WU Tiya nrepn AN BYwaY N I avww sy may - (AYTIP3 20) S 9901 nYNY

:ININ NMIOND NN
NOOON ,NNNIN NIDINNND INPNY NININD IR PATHL XD W (MNP 5) (X
11192 DWAN DY TAPNY N . TIPNN 7DDNMNATM "DIRIVPRIT D2 DY DIV

library ieee;
use ieee.std_logic_1l1164.all;
entity dff is
port: (clk; xst: in std logic;
d: in std_logic;
g: out std_logic) ;
end;

architecture rtl of dff is

begin
process (rst, clk)
begin
if rst='1' then g<= '0"';
elsif clk'event and clk = '1l' then
g<= d;
end if;

end process;

end;

library ieee;
use ieee.std logic_1164.all;
use ieee.std logic arith.all;
use ieee.std logic_unsigned.all;
entity test5A is
GENERIC (Size: INTEGER:= 4);
port(d, clk, rst: in std_logic;
g: out std logic_vector (Size-1 downto 0));
end;
architecture for _gen of testS5A is
COMPONENT dff
port(d, clk, rst: in std logic; g:out std_logic);

end component;
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SIGNAL gSig: std_logic_vector (Size-1 DOWNTO O0) :

(others=>'0"') ;

SIGNAL dSig: std_logic_vector (Size-1 DOWNTO 0):

(othexrs=>'0") ;

begin
dsig(0)<=4d;
out_loop: FOR i in 0 to size-1 GENERATE
boxs: dff port map(d=>dSig(i), clk=»>clk, rst=> rst,
g=>gSig(i)) ;
end GENERATE out_loop;

dsig(1l) <= gsig(2) XNOR gsig(3);
dsig(2)<= gsig(3) XOR gsig(1);
dsig(3) <= gsig(l) XNOR gsig(0) ;

q::qsig:

end;

,DYNVWY DD NINN DY DIRNINND NITO IX ©0wIo v (MM 10) (2

d no»om ,0 -n (18P Reset MNND) Tay> NONNN NOWNNY NNINY 1N IWND

Mapyewa ‘17 noapn

16 Nx DIYAY ¥ 70NN MIPR DX .AMNN AR DWW ,7PINNN N 171TO DN

(0 -n 5912) 1202 DMNYUNRIN DXANNDN

PINYL NN 200 NP Do

) DY DMADN 16 MIX»NN NN ¥ NP 4 My (MM 5) O
.DNSY Y DMIIND DMV DMADN MND DY MYPIN NI

M 02 IR IN DY DIDDN 16 NYTOY DN 720N T292 MNNYNI LIN TIND
MON
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191 191831, MIANKA YU AWWN TIYA 1A9En NN BIAY N it abw by ey - (DYDY 20) 6 9991 ARV

Anput = 710007 : 1M D*9YON D2 TWND ,NININ NIDINN NN
o2 div_by 1291 DY DN MMNN DX SO DN PND MRYAVN IR DOYND W

YR NIYYN MNIND NYAIN 197 I8P DIPN MY NMIND W .count -
library ieee;
use ieee.STD_LOGIC_1l164.all;
use ieee.STD_LOGIC_ARITH.all;
use ieee.STD_LOGIC_UNSIGNED.all;
entity div is
generic (size: NATURAL:= 4);
port f(elk: in BIT; rst: in BIT;
input: in std_logic_vector(size-1 downto 0);
div_by: out std_logic) ;
end div;
architecture div of div is
signal count: std logic_vector(size-1 downto 0);
begin
process (rst, clk)

begin
if xet = V1V then
count<= input;
div_by<='0"';
elsif clk'event and clk = '1l' then
if count = 1 then
count<=input;
div_by<='0"';
else
if count < SHR(input,"01") then
div_by<='0"';
else
div bye='1"';
end if;
count<=count-1;
end if;
end if;

end process;
end;

13 7 nn 7 Ty



2011 2°aN 90729

DIV 7Y NI2NNIA NIV XD ¥ NNV 1DD DD MIIND NAY (MNP 8) (N
: DN MM NN 8D DN count -2 ©N*2 div_by Sv 1oy

count div_by

NVYN IR DNRYYY NMPRLY ,IPIDINT IYITIND IMYN TN DIYH (MNP 8) (1

NN
if count < conv integer (input) /2 +1 then

DMV 20 NNPYY XRTND YT, 05902 11 NNV THNYD DAY X\onm
8D D)) count -2 N2 div_by W 157y DIV 7Y NIANNA NYTN NP0 PIND W
;D20 MMNN NN

count div_by

50% M0 ,div_by DY Um0 R¥IN NPT N2 NV DIV (MNP 4) (O
M0 AP 505100 'L A yin

MHyn

Y DTN NYNINT NDINT MONSHNN M902 NP SHR mxpnan .1

-2 MOPNN NINNY TMIDMNY MONSNN NPVYI NHMP conv_integer MSPNON .2
.dinteger non My 2-2 PYM wonwn? MmO TDY .integer
INDYY XY N NYPA ,D72)072 121TAY "DIXNWY DY INNRD 1T NONYA DL N2 .3
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1013 191X3) , NIINKA YU AFUA TIHYE NISTE NN BIVAY N T1 noNw by ey - (F1YTID) gﬂ) 7 9991 YNV

1 NaN NN TP NI
library ieee;
use ieee.std logic 1164.all;
entity sm is
port (resetN, clk: in std logic;
din : in std_logic_vector(l downto 0) ;
dout : out std legie);
end sm;

architecture arc_sm of sm is
type state is (pre, bingo, post);
signal present_state, next state: state;
gsignal dsig: std logic:= '0';
begin
process (resetN, clk)
begin
if resetN = '0' then
present state <= pre;
elsif clk'event and clk = '1l' then
present_state <= next_state;
end if;
end process;

process (present_state, din)

begin
degig <= 10
case present state is
when pre =%
if din = "01" then
next state <= bingo;
else
next state <= pre;
end if;
when bingo =>
deglg <= '17;
if din = "00" then
next state <= pre;
else
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next_state <= post;
end if;

when post =>

1f din = "0Q0" then
next state <= pre;
elgift din = "11i" then
next_state <= bingo;
else
next state <= post;
end if;

when others =>
next state <= pre;
end case;
end process;
dout <= dsig;
end arc_sm;

.Pm Moore W Mealy non N0 nNonn OXN (MNP 4) (N

D2YNN 22 AR DIVAY TOPN .NNDNN HY D8N NNNNT DY (MM 8) (2
NN 2NN XY MDD DNZY MONN NNXY 287D A890 (DI8NN)

PY722 IS MO NPT NNINY YSDY MO DY NP 2N TYY (MNP 8) ()

NN PITAY TNY PR DN I8N 2NN DMIWARD (DXXNN) DMaynn 99 NN
DN DY MININD MDINHDI MINSIND
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19513 191831, 30BN HV 19BN TEYA A9TR N DIWAY X T avxw Sy may - (31123 20) 8 991 NYNY

¢ NID PYHNRN N
LIBRARY IEEE;

USE IEEE.STD_LOGIC 1164.ALL;
ENTITY cnt IS
PORT (clk, rst: IN STD LOGIC;
vecl, vec2: IN STD LOGIC vector (3 downto 0);
veclOR2: OUT STD_LOGIC vector (1 downto 0));
END;
DNVPNN TN MDD MPAN) M9 ISP INDY v (MM 8) (N
20 MIDINAVY vecl, vec2 : DYNVPNN NV DY NIRNYN YNINY (DY0IN
ST MM N8N (MNP 2) (2
veclOR2<="01" (1l-n 2172 2) vec2>vecl
veclOR2<="10" (1-n 1up 2) vec2<vecl

veclOR2<="11" (1-n 2171 2) wvec2=vecl

J172Y2 2010 120D X ,ONMNON Y53 wnnwnd 10

N0 8PN DX 00NN (Package) /N an 2mad v (MM 2) O

112 AYNAWNY IPNAY INNPN ITNMVPYLIIIN N W nyd (MNP 8) (1

D) IRNYNZ MYTN D50 2 NDNID MYNN )WY MNN 552 % mnd v *
(OTNN NP2 28N) veclOR2<="00" : DANNND NN

INNN IMNIIPONR DIOND 1St NDNO DI W *

v UPASY 10D T2 DOM DMINNND TIPN PON DO¥ PITAY nanNn Ty
VNNYN DN D2NYNHY PIDIND NV PIN NN NIV PIA0ND
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1051 19IX31 , IANRA YV AYYA TIHY3 19503 TN DIYAY N3 11T ASNY By 1Y - _(_ﬂ""ns'ﬂ 20) 9 4991 NYNY
£33 TPIDINND IV NIDIND NN PN W (MM 10) (N

LIBRARY IEEE;
USE IEEE.STD_LOGIC 1164.ALL;
USE IEEE.STD_LOGIC_ARITH.ALL;
USE IEEE.STD_LOGIC_UNSIGNED.ALL;
ENTITY test09A What IS
PORT (clk, rst, inp: IN STD LOGIC;
otp: OUT std_logic);
END;
ARCHITECTURE arc OF test09A_What IS
SIGNAL a, b, c: std_logic;
BEGIN
otp<= (¢ AND b) WHEN inp/=a ELSE (a XOR b);
process (clk, rst)
begin
if ret= '1" then
as= Nov; pe= VI
elsif rising edge(clk) then
a<=inp XOR c; b<= a; c<= b AND a;
end if;
end process;
end;

21T TIDINND IV DIIND NN XY v (M) 10) (2
LIBRARY IEEE;
USE IEEE.STD_LOGIC_ 1164 .ALL;
USE IEEE.STD_LOGIC_ ARITH.ALL;
USE IEEE.STD_LOGIC_UNSIGNED.ALL;
ENTITY test09B_What IS
PORT (clk, inpl, inp2: IN STD LOGIC;
otp: OUT std_logic) ;
END;
ARCHITECTURE arc OF test0SB What IS
SIGNAL a, b, c: std_logic;
BEGIN
process (clk)
begin
if rising edge(clk) then
if a= b then
g<=Inp2; otp<s= b;
end if;
end if;
end process;
b<= a WHEN inp2 /= inpl ELSE c;
a<= b WHEN (¢ = inpl) ELSE inp2;
end;
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10513 191831, 7INBN YU IPUN T 719DH NN DAY N Tt nsxe Sy - (51913 20) 10 901 NYNY

.DNYID DXV D¥INN NP 2IN2Y NON N NHNWA

a | 4 = 2 | 4 218, %
N c q ql N c q q2
il (e el
| |
d3 ol d = q3
N c q
VE |

(Clocked Process) TnX 1)WY 1210 PYnn 2onn Tip M5 v (MmN 20)
DPNON MY NIV XOY TONN T ,D%2I9T1 112Y MIDPON DI 99190
MIRNYNN NN .2OY0 DOVIND IR PN NN ToY TIPn 95 0

d(1) <= q(2) XOR q(3);

d(2) <= q(3) WHEN d(1) =d(3) ELSE
q(1) NOR q(2);

d(3) <= q(2) WHEN d(2)/=d(1) ELSE
q(1) NAND q(2);

DOVYIN2 DMNO0N 220D MAIUN My
190N NN d =), 02070 K8 N0 q ,r=Reset, c=clk : D>vanav onmoTa .1
Signal non mmx on d(1), d(2), d(3), q(1), q(2), q(3) .2
bit NoHn MMNN Do Mmnd v .3
TP 51T MINK,DVINN S¥Y DNDODI woRnvnd nan 4
127999°0N 1982 "0 '0' DA NN MmN st='0" ymona L5

VIDYN MNIND NODINN NN PNIZ NN TR, TIP2 MMN P2 Imn .6

ANbYNa
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